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� Glass-metal heliostats, 
624 movable mirror, each surface 1,290 ft2

Total area equivalent of 17 4�����	������%	��

� Tower  
� Solar  receiver 

4 vertical panels 18ft*39ft

� Steam turbine



����	� ����$������?+@
� Water thermal storage system

� 4 tanks that are sequentially operated in order of 
their charge status

� capacity 20 MWh equivalent to 50 minutes of 50% 
load operationload operation

� When energy is needed to cover a transient 
period, the energy is recovered from the saturated 
water at 20 bar to run the turbine at 50% load



�������	����������	���
�	� ���!

� Heliostats concentrates the Sun’s rays 
to receiver

� The receiver transfers received heat to 
an operating fluid.an operating fluid.
40 bar 250ºC saturated steam

� The steam is sent to the turbine
� The turbine drives a generator. To 

Producing electricity



How it Work
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1. Solar premium was raised 50% from $0.17/kWh  to$ 0.24kWh
2. Support of gas was allowed with the restriction of keeping its 2. Support of gas was allowed with the restriction of keeping its 

consumption (in energetic units) under 15%of the amount of 
electricity produced

� Result
� change the design 
� more technology
� cost increase
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